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Transitional dynamics and convergence 

In what follows we shall assume, following the literature, that 

the propensity to save s <  s* of gloden rule. 

This amounts to ruling out overaccumulation, to the effect that 

a higher propensity to save has a persistent positive level effect 

on (steady‐state) consumption per‐capita. 

 

   



2 
 

Let us introduce the standard definitions introduced with the 

Solow model.. 

𝑘 ൌ ௄

஺௅
         capital in efficiency units 

𝑓ሺ𝑘ሻ ൌ ிሺ௄,஺௅ሻ

஺௅
    output per efficient worker 
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0utput/capital ratio is a decreasing function of k:   

௙ሺ௞ሻ

௞
ൌ

ிሺ௄,௅஺ሻ

௄
   

→  rate of capital accumulation is decreasing function of k 

 
             K1   K2      K3 
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If k* is the same, the poorer country grows faster than the rich 

during transition (temporary growth component) 
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Temporary and persistent growth component  

k = K/AL   𝑦ො = Y/AL 
 

𝑌 ൌ 𝐹ሺ𝐾, 𝐴𝐿ሻ ൌ 𝐾ఈሺ𝐴𝐿ሻଵିఈ   Cobb‐Douglas case 

𝑌
𝐴𝐿

ൌ 𝑦ො ൌ 𝑓ሺ𝑘ሻ ൌ 𝑘ఈ 

𝑌ሺ𝑡ሻ
𝐿ሺ𝑡ሻ

ൌ 𝑦ሺ𝑡ሻ ൌ 𝐴௧𝑓ሺ𝑘௧ሻ ൌ 𝐴௧𝑘௧
ఈ 

𝑦ሶ௧
𝑦௧

ൌ 𝑔 ൅ 𝛼
𝑘ሶ

௧

𝑘௧
 

g = persistent growth component 

௞ሶ ೟
௞೟
 = temporary growth component, is increasing with distance from k* 
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Take linear approximation of 
௞ሶ ೟
௞೟

ൌ 𝑠𝑘௧
ఈିଵ െ ሺ𝑛 ൅ 𝑔 ൅ δሻ 

around k* recalling that 
௞ሶ ೟
௞೟

ൌ 0 at k* 

𝑘ሶ ௧
𝑘௧

ൌ ሺ𝛼 െ 1ሻ𝑠
𝑘∗ఈିଵ

𝑘∗ ሺ𝑘௧ െ 𝑘∗ሻ 

first order expansion of log k around k*:   log k  log k* + ଵ

௞∗ (k − k*) 

 

ሺ𝑘௧ െ 𝑘∗ሻ

𝑘∗ ൎ 𝑙𝑜𝑔𝑘௧ െ 𝑙𝑜𝑔𝑘∗ 

    𝑠𝑘∗ఈିଵ ൌ ሺ𝑛 ൅ 𝑔 ൅ δሻ  

𝑘ሶ ௧
𝑘௧

ൎ ሺ𝛼 െ 1ሻሺ𝑛 ൅ 𝑔 ൅ δሻሺ𝑙𝑜𝑔𝑘𝑡 െ 𝑙𝑜𝑔𝑘∗ሻ 
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௞ሶ ೟
௞೟

ൎ ሺ1 െ 𝛼ሻሺ𝑛 ൅ 𝑔 ൅ δሻሺ𝑙𝑜𝑔𝑘∗ െ 𝑙𝑜𝑔𝑘௧) 

The equivalent expression for the growth rate of 

per‐capita output near the steady state is : 

௬ሶ೟
௬೟

ൎ 𝑔 ൅ ሺ1 െ αሻሺ𝑛 ൅ 𝑔 ൅ δሻሺ𝑙𝑜𝑔𝑦௧
∗ െ 𝑙𝑜𝑔𝑦௧ሻ  (7) 

 

Persistent       temporary   
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Determinants of the steady state component y*(t)  

𝑠𝑓ሺ𝑘∗ሻ ൌ ሺ𝛿 ൅ 𝑛 ൅ 𝑔ሻ𝑘∗  steady state restriction 

𝑠𝑘∗ఈ ൌ ሺ𝛿 ൅ 𝑛 ൅ 𝑔ሻ𝑘∗    Cobb‐Douglas 

𝑘∗ ൌ ൬
𝑠

ሺ𝛿 ൅ 𝑛 ൅ 𝑔ሻ
൰

ଵ/ሺଵିఈሻ
 

      𝑦௧
∗ ൌ 𝐴௧𝑘∗ఈ ൌ  𝐴௧ ቀ

௦

ఋା௡ା௚
ቁ

ఈ/ሺଵିఈሻ
     

log y*(t) = logA(t) +[ α / (1 – α)] log [s/(n + g + )]  

steady state  per capita GDP is explained by: 

‐ initial technology level A0 

‐ population growth n 

‐ propensity to save s 

‐ technology growth g 

‐ elasticity of output with respect to capital   
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If  countries A, B are structurally identical: yA*(t) = yB*(t) 

   

from  yA*(t) = yB*(t) :  yA(t) > yB(t)  →  gyA (t) < gy
B(t) 

 

‐ persistent growth components are identical in A and B 
 

‐ temporary growth component is lower in rich country A than 
in poor country B 
 

→  growth is faster in B than in A = unconditional convergence 
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Barro regressions 
 
A discrete appoximation of equation (7) above is: 
 

    g t, t − 1 ≈ g + (n + g + )(1 – α) [log y*(t−1) – log y(t−1)] 
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  •  g t, t − 1 ≈ g + (n + g + )(1 – α) [log y*(t−1) – log y(t−1)] 

 
 

b0 = g + (n + g + δ)(1 − α)logy*(t−1)    (8.1) 

b1 = − (n + g + )(1 – α)        (8.2) 

 
   here  b0 is not country specific, is uniform across countries:  it amounts 
to assuming that all countries are converging to the same steady state.  

   
→  equaƟon (8) tests for unconditional convergence  (absolute 
convergence)  
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Unconditional convergence:  
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Barro Results: average per capita GDP growth 1960‐1985 positively correlated 

with GDP per‐capita 1960, on a cross section data of 91 countries 
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Conditional convergence 

• Unconditional convergence is often too demanding, because it restricts 
countries to have the same investment ratio (s = I/Y), and the same efficiency 
of their technology and institutions. 

• If countries differ in their characteristics, one has to admit that the constant 
term b0 in equation (8) has to be country‐specific, because it captures the 
position of a country steady state. This yields: 

  
   •   The regression value of the constant term will then reflect the country 

          characteristics that affect the position of the steady state. 

   •    The slope term b1 is the convergence coefficient, measuring the speed of  

  convergence to the steady state. From equation (8.2) above we have that  
b1 = ሺ𝑛 ൅ 𝑔 ൅ 𝛿ሻሺ1 െ 𝛼ሻ. In equation (8) and (9) the convergence 
coefficient is assumed uniform across countries. The implicit restriction is that  
countries have same population growth, and same production function, in 
particular, same elasticity α of output with respect to physical capital. 
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Effects of different s across countries: 
If initial condition is the same but savings rate is higher, the temporary 
growth component is also higher 
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If savings rate is higher, the richer country may grow faster than the poor 
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Conditional convergence: 
 

  
 

recall:     b0
i  = g + (n + g + δ)(1 − α)logyi*(t−1) 

 

b0
i captures the effect of all the country‐i varaibles affecting 

the steady state yi*, in particular initial technology Ai (t – 1) 
and  country i propensity to save si. 
 
 if the saving rate si or productivity Ai are high in a rich country i, its 
b0

i is large, and the country may well grow faster than a poor 
country j, with a low b0

j. 
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Barro (1991) and Barro and Sala‐i‐Martin (2004) adopt a somewhat 

‘loose’ interpretation of ‘technology’ A(t) and define: 

b0
i = qXi  

where q is a row vector of coefficients and Xi is a column vector of all 
country specific variables, affecting i’s steady state.  

Because the coefficient b0
i  is allowed to differ across countries, they 

expect a negative estimate of the convergence coefficient b1 
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GDP‐per capita growth 1960‐1985  net of all explanatory variables of steady 

state 1960 versus GDP per capita 
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Evidence of β‐conditional convergence across countries is a point of strength of 

the neoclassical model:  

●  β (conditional) convergence = convergence of per‐capita income in each country 

or region towards its steady‐state 

 

● β (conditional) convergence  is however a very weak prediction consistent with a 

very wide range of growth paths, if steady states are allowed to differ across 

countries and regions. 
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● The previous remark can be restated by saying: 

 β convergence does not imply σ convergence of income per‐capita.  

σ convergence of income per‐capita:  

consider a sample of N regional income per‐capita yit at date t,   i = 1, …, N 
the sample exhibits σ convergence if per‐capita income if the variance σ2 of the 

cross‐country (or region)  distribution of log yit i = 1, …, N decreases over time 
 

 

μt = sample average of ln(yit ) 

. 
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● In fact, β convergence may cause σ divergence: 

Example: 

Consider two economies A and B, where yA0 = yB0, that is, 
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Examples of σ divergence:  Cross‐country distribution of log GDP per‐capita 
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● An Example taken from  European regions: 

 

● The existence of two regimes A and B is suggested by the observation of  

   σ divergence of per‐capita income  between area A and B.  
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● introduce the restriction: 

regions in the same  regime A, B converge to a uniform  steady‐state yA*, yB*  

 

the restriction yields: 

‐  β-convergence results consistent with Solow model (negative convergence 

coefficient) 

‐   yA* > yB* constant in regression is higher for group A than for B 
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Remark: 

What is surprising in the above regression results is that the estimates of b1 

b1 = − (n + g + δ)(1 – α) 

is different in the two regimes A, B. Differences in b1 are larger than cross‐regimes 

differences in population growth n may be able to explain.  
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Explaining episodes of divergence. The red versus the green country 
log y 

           log y*(t) 

    

log y0* 

 

 

           log y*(t) 

 

log y0* 

      
      0 
            Time t 
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Some variables in Xi,t are hard to measure 
 
 

By introducing ad hoc large differences in log y*j, 0 , the Solow model 

can explain highly diverging dynamic behavior. 
 

‐ log y*j, 0 = logA j, 0  + [ α / (1 – α)] log [s j,/(n j + g + )]  

 

‐ s j and n j are easy to measure 

 

‐  ‘technolgy’ A j is hard to measure 
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Problem 2.  In a theoretical framework broader than the Solow model: 

‐ the separation between ‘persistent growth component’ and 

convergence may be questionable. It derives partly from the 

assumption that growth is exogenous. 

‐ If the steady state growth rate depends on the propensity to save 

(endogenous growth), some variables in Xi,t may not just determine 

‘the position of the steady state path’, but also the growth rate 

 

‐ Xi,t may be endogenous : jointly determined with the temporary growth 

component :  OLS estimates of regression coefficients may be biased   

 

if variables in vector X are econometrically endogenous causal 

interpretations of the regression equation may be questionable  
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Problem 3: 

Conditional convergence obtains but is far slower than Solow suggests. 

 

( ) ( )(1 )
y

t g n g
y

      [log y(t) – log y*(t)]   (7) 

Speed of convergence is measured by β = (1−α)(n + δ + g) 
‐ speed of convergence is determined by how fast the 

marginal product of capital falls when k increases. 

‐ Convergence is faster if α is closer to zero and slower if α is 
closer to 1. 
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Calibration yields counterfactual predictions about convergence speed: 

‐  
‐  

 β = (1−α)(n + δ + g) 

‐  

remark (Cobb‐Douglas case):   𝑌 ൌ 𝐾ఈሺ𝐴𝐿ሻଵିఈ    𝑓ሺ𝑘ሻ ൌ 𝑘ఈ 
௄∙ெ௉௄

௒
ൌ

௞∙ெ௉௄

௙ሺ௞ሻ
ൌ

௞ఈ௞ഀషభ

௞ഀ ൌ 𝛼    easy to measure!! 
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Example 1: R. Barro, X. Sala‐I‐Martin, O. Blanchard, R. Hall (1991): 
converence in European regions 

 
When β convergence coefficient is restricted to be the same across 
subperiods β ≈ 0.018, much lower than theoretical value 0.054 
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Example 1: R. Barro, X. Sala‐I‐Martin, O. Blanchard, R. Hall (1991): 
converence across US States 
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Also in the second example estimated convergence parameter β 
is lower than predicted by the model 
 

( ) ( )(1 )
y

t g n g
y

      [log y(t) – log y*(t)]   (7) 

 
( )(1 )n g          

Hint:  
adopting a broader notion of capital (physical + human capital): 

‐  the capital income share would increase 

‐ convergence to steady state would be slower! 
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Footnote (optional !!) 

Step 1.    y*(t) = A(t) f(k*)  and take logs 

   
Step 2. 

consider k function of log k:  k = e log k →  ∂k / ∂(log k) = e log k = k 
Take  Taylor expansion of   log y as function of log k around log k*: 

 

 

(6.2) 

log k(t) – logk*  [εf(k*)] – 1[ log y(t) – logy*(t)]          (6.2.bis) 
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Step 3.    

(∂k / ∂t) = sf(k) – (n +  + g)k 
from first order expansion of log k around k*:   log k  log k* + (1/k)(k − k*) 
 

 
(6.3) 
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Step 4.   Use  (6.2)  together with log y*(t) = log A(t) + log f(k*) to write:   

 

 

∙ εf(k*)[log k(t) – log k*] 

 

1. to derive  the previous result, substiute for the growth rate of k from 6.3 

2. now substitute for log k(t) – log k* from 6.2.bis 

∙ [log y(t) – log y*(t)] 
 

 

 


